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QUESTION 1

A table named SALES was created as follows:

CHEEATE TABLE sales (order date DATE, order_d IMT)
IM ts1, 132, ts3, tsd
FARTITION BY RANMGE (order_date)
(STARTING '2012-01-01' ENDING '2012-12-31'
EVERY 3 MONTHS)

Assuming all table spaces required already exist, which statement(s) must be executed to add a new partition that
already contains data for the first quarter of 2013 to the SALES table and leave the table accessible?

A. ALTER TABLE sales ADD PARTITION part_2013g1 STARTING (\'01/01/2013\\') ENDING (\\'03/31/2013\\) IN ts5;

B. ALTER TABLE sales ATTACH PARTITION part_2013q1 STARTING (\\'01/01/2013\\') ENDING (\\'03/31/2013\\")
FROM TABLE g12013_sales;

C. ALTER TABLE sales ADD PARTITION part_2013g1 STARTING (\'01/01/2013\\') ENDING (\\'03/31/2013\\") IN ts5;
SET INTEGRITY FOR sales IMMEDIATE CHECKED;

D. ALTER TABLE sales ATTACH PARTITION part_2013q1 STARTING (\'01/01/2013\\') ENDING (\\'03/31/2013\\)
FROM TABLE 12013_sales; SET INTEGRITY FOR sales IMMEDIATE CHECKED;

Correct Answer: D

QUESTION 2

Which Workload Manager (WLM) objects can the COLLECT ACTIVITY DATA clause be used with?
A. Data class, work class, and a limit

B. Data class, action class, and a threshold

C. Service subclass, action class, and a limit

D. Service subclass, work class, and a threshold

Correct Answer: D

QUESTION 3
What is the preferred method for reclaiming unused storage in a DMS table space?

A. Perform an ALTER TABLESPACE...REDUCE operation.
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B. Perform a REORG on each table within the table space, then perform an ALTER TABLESPACE...REDUCE
operation.

C. Perform an ALTER TABLESPACE...LOWER HIGH WATER MARK operation, and then an ALTER
TABLESPACE...REDUCE operation.

D. Perform a REORG on each table within the table space, then perform an ALTER TABLESPACE...LOWER HIGH
WATER MARK operation.

Correct Answer: C

QUESTION 4
Which statement about value compression is correct?
A. To use value compression, you must have a license for the DB2 Storage Optimization Feature.

B. Value compression uses a page-level dictionary-based compression algorithm to compress data based on repetition
of values found in a single column.

C. Value compression involves removing duplicate entries for a value, only storing one copy, and keeping track of the
location of any references to the stored copy.

D. When value compression is used, the byte count of compressed NULLSs, zeros, and blanks might be larger than that
of the uncompressed version of the same values.

Correct Answer: C

QUESTION 5

The following statement was used to create a table space named TBSP1 in a non-partitioned database:

CREATE TABLESPACE thsp1
MANAGED BY DATABASE
LISING (FILE Ymntfsystemndidata.dat 150K)
AUTORESIZE YES
INCREASESIZE 10 PERCENT
EXTENTSIZE 4

Which statement(s) will successfully lower the high water mark in table space TBSP1 and return unused storage space
to the operating system?

A. ALTER TABLESPACE tbspl REDUCE MAX
B. ALTER TABLESPACE tbspl LOWER HIGH WATER MARK

C. ALTER TABLESPACE tbspl LOWER HIGH WATER MARK; ALTER TABLESPACE tbspl REDUCE (ALL
CONTAINERS 8);
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D. ALTER TABLESPACE tbspl REDUCE (ALL CONTAINERS 8); ALTER TABLESPACE tbspl LOWER HIGH WATER
MARK;

Correct Answer: C
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